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pw = p= .l

o’, = pq, = .1(.9)  = .09

WI W2 WP  w.  w5 w.5  w,  W8  w9 WI0
0 1 0 1 0 0 I 1 0 1

OJHlFjl  p

INV = 5
c

&JiiU  p =  5/10 =  .5
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= o(~)+l(;)+...+lp)

= zWiP(Wi)

= E(W)

= J&v = dlla”auvoJ  w &-Js
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x pr~n7~ttilntt$Jttyflw~~lu  h n = 10,

p pi?0 n)  = l/5 = .20

8in617519ni3ttanttBJttEIYnPa911BJ p = .2,  n = 10

(n) P(X = 1) = .02642  (am  B)

(“u)  P(X < 3) = .87913  (WI9  C)

(R) P(X a 5) = 1 - P(X G 4)

= 1 - .996721

= .03279

(n) P(X = 10) = .I7620

(U)  P(X < 5) = .02069

(‘+l)  P(X > 7) = 1 - P(X G 6)

= 1 -.05766

= 0.94234

tM8 ul4t~~nu"~;waIum~~"nln  50% 9w'x doSlu?wnwY~~~lurl~Irn  1;efiuu1iu is

~U?U"nUUlbU  30 flu e~Hlnalu~loalfluue~

(fl) P(X G 20)

(U) P(X B 18)

(fl) P(12 < x < 22)
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tfi x  ~oO,iPraran~~~~^nu~itt~a~i~~in~~~  x  ardnistt~nttJJuuYnl?UlU~~Y?U

w1c=mlf  n = 30,  P (Pq%l  7r)  = .50

0in~lai9nifttilnttaSttEIE19l’jPalU

(fl) P(X G 20) ==  .97861

(1) P(X >, 18) == 1 - P(X < 17)

==  1 - .81920

==  .I808

(Fl)  P(12 < x < 22) = P(13 < x < 22)

= P(Xd22)-P(XG12)

=:  .99738  - .I8080

=.  .81658
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6.72 hm@w4a~l~nlaIriclH’?  = 0.7 1Xx  hiiu~uH"?oinnnIuu  30 nh owifmu

-hJGhld~

(1) P(X = 21),

(2) P(X G 15)

(3) P(X b 16)

(4) P(14 < x < 20)

(5) P(14 G x Q 20)

x ~~:ni-ju~,nLLaJLLElyMPaUiBl  FIG  n = 30, ~(6%  71)  = .7

(1) P(X = 21)  = .56848

(2) P(X < 15)  = .01694

(3) P(X > 16)  = 1 - P(X < 15)

= 1 - .01694  = .98306

(4) P(14 < x < 20) = P(14 < x d 19)

= P(X 4 19) - P(X G 14)

= .26963  - .00637

= .26326

(5) P(14 4 x G 20) = P(13 < x G 20)

= P(Xd20) -P(X  < 13)
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= .41119  - .00212

= .40907

(7-t)  P(X = 0) = .16807

(ll) P(X = 5) = .00243

(CI)  P(X G 3) = .96922

(J) P(X 2 3 ) = I - P(X < 2 ) = 1 - .83692 = .16308

P(X=3) = (:,(,“,/(~,(~~~:(~1,(,“:,/(,“,,

1= -
8 4
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f ( 3 )  =  (3)(6)/p) = 1
3 0 3 84
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(u) P(X = 0) = (: )(  :’ ) 6188
(‘p) = __15,504

(n) P(X >/ 1) = 1 - P(X = 0)

= 1 -6188/15,504

= 9316/15,504

(n) P(i%ymi7wm  I iu) = P(x & 1)  = ryx  = o)+P(x  = 1)

P(X = 0) = 6188/15,504  (wh (u))

P(X = 1) = (; )( ‘4’ )/(Y )

= 7140/15,.504
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(‘:  I(;)  @-Jf(1) = - =
2%

(;)(;)  gof(2) = - =
(‘4”  1

2%

f(3) = (i)(T)  - 2 4=
(iO  1 2%

f(4) =. u2 = 1
(‘,” 1 2 1 0

X 0 1 2 3 4

f(X) 15/210 80/210 9o/210 24/210 l/210

(n) P(nh17~nwa~Rllat’d,fiifW~WJP9U~)  = P(x = 4)  = 11210

(u) P(mdnm  2 wam41u-~~artiifh)  = P(X = 2) = 9o/210

aau

1.0

P(x,  = 2, x* = 2, x3 = 2) = (:,(;)(:) 180

(i2)
= 9x4
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f(0) = (A )(; )/(;" ) = 35/120

f(l) = (; )(; )/( ;” ) = 631120

f(2) = (; )(Y )/(  :” ) = 211120

f(3) = (; )( ;:  )/( \O  ) = l/120
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6.81 o1f&J 6.80 c~nl”nurile::r~u~9u?“unw’~~::Sln~s~~~~~~ti,~u’a” 2 l”lDJ

P(X,2) = I-P(XG1)

=  I - P ( X  =  O)-P(X =  1 )

= 1 - .36788  - .3678&J

= .26424

(71)  P(fi7hy  2  6a  ps~oboonii)  =  P(x  f 2)

= P(X=O)+P(X=I)+P(X=2)

= .04979  + .I4936  + .224O4

= .42319

(+I)  P($I~~I  2 8a t&mmnTd~)  .= P(X  2,  2)

= l-P(X < 1)

= l-P(X = O)-P(S =  1 )

= I - .O4979 - .I4936

= .8OO85
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(ll) P(X<3)  = P(X = O)IP(X  = l)+P(x  = 2)

= .13534  t .27061+  .27067

=p%Zij

(“) P(X a 3 ) = 1 - P(X d 2 ) = 1 - P(X < 3 )

= 1 - .67668 = (.32332[

(9)  P(X > 0) = 1 - P(X = 0)

= 1 - .13534 =.F]

(9) P(2dX<5) = P(X = 2)+P(X  = 3)t-P(X  = 4)+P(X  = 5)

= .27067 + .I8045  + .09022 + .03609
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ttd n > 20 dh p ~~b.ib&winGhb.J rrdiidnorGld~ln  rm~hm.MhmIdd

n = 50 tJo~lJ~::uinm’aonn~ran~aesb~Y~13?~oJ  p = np = 50(.1)  = 5

(n) P(~~~JCI)  = P(X = 0) = .00674

(U)  P(Lih@S  1 FIU)  = P(X = 1) = .03369

(n)  P(~Ou~t&&an-h  3 au) = P(x < 3)  = P(x = o)+P(x  = i)+P(x  = 2)

= .00674+.03369+.08422

= .I2465

(9) P(awQJneilslaer#yn  3 flpb)  = P(X a 3)

= 1 - P(X < 3)

= 1 -.I2465

= .87535
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= I - {P(X  = o)+P(x  = l)+P(x  = 2)}

= 1 - {.01832+.07326+.14653  }

= l-.23811

= .‘76189

n)  P(X B  3) = 1 - P(X d 2)

= 1- {P(X  = o)+P(x  = l)+P<X  = 2))

= 1 - {.36788  + .36788  + .18394}

= 1 - .9197

= .0x03
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= 1 - {.01832+  .07326+  .14653+.19537+.19537}

= 1 - .62885 = .37115

(fl) P(X = 20), (Y wx  = 5), (I?)  P(X = 2)

ela~:BJibu~aoni~~~~nuss~~~~ffa~llo9~d  p = np = 2g.25)  = 0.5

(n) P(x  = 20)  =  0
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(-II)  P(X  = 5) = 0

(a) p(x = 2) = .01637
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n) P(X = 5) = .1728

91)  iil~er~l~  P(X c 4 )  =  .3733

bc9nimaiu  P(x  > 5) = 1 -P(x G 4)

= l-.3733

= .6267
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E(x) = 1.5 = i, A = & zz 0.67
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(u)  E(X) = ; == ,& = 200, LLW  ox  = ; = 200

6.07 $1 X i;~l~ll~~ll~JllUlr~~~~~U~llQ~U  5.6 llWilllhlWlPI~~lU  1.4 WHl

(fl)  P(5.0  < X < 6.0) (fq P(X  < 4.4)

(U)  P(X > 7.0) (J) P((X < 3.4) M%J  (X > 6.4))
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X s n(p  = 5.6, 0 = (.4); MJiwil  x IUUZ  = x+

(n) P(5.0  < X < 6.0) = P(a < z < b)

a = 5.0 - 5.6 = -0.43

,,  = 6.0-5.6  = 0.28

P(-0.43 < Z < 0.28) = P(Z < 0.28) - P(Z < -0.43)

= .6103 -.3336

= .2767

(41)  %Ml  P(X >7.0)

6du P(X > 7.0) = P(Z  > 1.0) = 1 - .8413 = .1587

(Fl)  P(X < 4.4) = P(Z  < - 0.86) = 1.1949]

1,\

(9) P(X < 3.4 HitI  X > 6.4) = P(Z < -1.57)+P(Z  >0.57)

= .0582+.2843

= .3425

6.~8  $1 X ~myIrenlloJlluuniUl~  n = 80, p = .4O  ~~~~~Ynnll~~ll~~llUU~~~~Y,Y~lfu

“7dW~UoiO~dd

(fl) P(X > 25) (n) P(X < 35)

(%I  RX > 40) (J) P(30  < X < 36)
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p = np = 80(.4)  = 32

CJ = \/npq  = m4)(.6)  = m = 4.39

= 1 - P(Z < -1.71)

= 1 - .0436

=p.J

(91)  w > w = P(X > 39.5) = P(Z > 1.708)

(8) p(x < 35) = P(:Y  < 34.5) = P(Z < 1.798) = m

(9)  P(30  < X < 36) ==  P(29.5 < X < 36.5)

= P(-0.57 < Z < 1.025)

= P(Z < 1.025) - P(Z < -0.57)

= .8473  - .2843
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P(X > 30) = 0.06

(l-l)  OJnlri71Q~“raJ”,lllonlroJ~

(91)  10% we~filtilqnwo~  x oaat@nimi~fn  ?

x ‘L n(p,  a = 4.Q)

P(X > 30) = 0.06

WltWalJbn"dn~  P(Z > 1.555) = 0.06

. . . . . . . . . . (1)

. . . . . . . . . . (2)

= 30 -4(1.555)

= 23.78I

ll) P(Z < -1.282) = .lO

mn z  =  (X-/L)/0
c

&Qu  x = oZ+p

n"l Z = -1.282 W'b%%.hilL&lT1~1  -1.282 tZGj 10%

GhiU X  =  (4.0)(-1.282)+23.78

= -5.128+23.78

= 18.652El
&$ID P(X <18.652)  = .lO  h&i1 X 0; 10% hhfId1 18.652
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lontiinuc;l’2n’ii

1) X x n(p  = 72, CJ),  X i?O-Sltl~m”&l’%4

2) P(X < 82) = .85

n) IGv 0, vln z = (X - j.d)/O

&& 0 = 'X+)

81n~1'6-19  Z hiOVl~lU&J%?  65% +%I Z = 1.0365

160  P(Z < 1.0365) = .85 = P(X < 82)
1

= (82 - 72)/l  .0365

= 9.6478 Mli’W

Y)  alu96a:clJ~s~n  5% kldo  P(Z > 1.645) = .05

mqm x. = oz+p

: (9.6478)(1.645)  + 72

= 15.87+72

= 87.87

iil&~  P(X >87.87)  = .05 M"aeX%iX~~  87.87 (KU $) = $87870
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CC  = np = 200(.07)  = 14

o = G = v/200(.07)(.93)  = m = 3.61

P(10  <X  < 20) = P(9.5 < X < 20.5) - d%Jfl-~WiidEIJ

r = P(-1.246 <Z < 1.8005)

= P(Z < 1.8005) - P(Z < -1.246)

= .9641  - .I066

= .8575

z = 3 0 - 2 4
4.6

= 1.30

= P(Z > 1.30)

= .0968
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61u,,qnhdo ilu?u"mideriCa"-h)

(iaxl~~)
prob

800 12ccl 1600 2000

800 .l 3200 2ooO 800 -400

1200 .3 3200 4800 3600 2400

1600 .4 3200 4800 6400 5200

2000 .2 3200 4800 8000

E(iilb) 3200 4520 & 4360

fMi%kI  800 fl.fb.  (co1 I)

k&lalaJd~.Snla 800 n.n.  SX:l&?lb  800x4 = 3200 IJlW
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*
‘Z%il4iilkb&~  3 2 0 0 1 2 0 0 = 2 0 0 0  ¶JlYl  $%.&%.A

c u .,
Eudo~~Q~onlaesliil~~~l~~~ler~nJnl~~"sBnSltaaudls “I d^aS1JG

a.
E(fil~+%Y  8OOfl.n.)  =  32OOx.1+32OOx.3+...+32OOx.2  =  3 2 0 0

*
E(rhYb.6/&&  1200 n.n.) = 2000(.1)+4800(.3)+...  +4800(.2)  = 4520

Y
E(hb/&%  1600 M.)  = 800(.1)+3600(.3)+6400(.4)+6400(.2)  = 5000

E(f=il%/&&  2 0 0 0 ?l.n.) = -400(.1)+2400(.3)+5200(.4)+80(.2) = 4360
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115  Xx Ao411aauhGia  I  knm3a~

XA -u  N(p  = 23, u = 7)

XB ‘L N(p  = 25, u = 1)

.66&l

X.4
23 26

2
0 .43

P(X,  < 26) := P(ZA  d .43)  = .6664

hiu  P(0  <: 2 < .43)  = .6664  - .5ooO  = .I664

P(Xs  G 26) = P(Z, 6 1.0) = .8413
c

6.6h.4 P(0 < Z < 1) = .8413 - .5000

= .3413
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.8413
I

25 26
xB

Z

0 1.0

ZB = (26 - 25)

l-----l
1

= 1.0

P(XA  <  2 4 )  =  P(ZA  < .143)  =(.55571

lUL%  Za = ( 2 4  - 23)/7 =  .1430

P(XB<24)  =  P(Za<-  1 . 0 )  =m

ludo z‘q  = (24 -25)/l  = -1.0

.5557 .1587
1

23 24



Tl)  P(X < 22) = P(Z 4 0.62) = .7324

jz = 2$+.62/

“II) P(%U.hJ%r;~U  2 d) = P(X < 24)

= P(Z < 0.93)
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P(X 2 20) = P(X 2 19.5) = P(Z  > 2.8) = .0026 (lla”p1mJhi0J)

II
n = 30

P(X > 20) = 1 - P(X < 19/n = 30, n = .4)

= l-.99714 = 1.00286]
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( n )  P ( X  B  i!5) =  l-P(X < 2 4 )

=  l - . 9 9 9 8 3

= .ooo17

(u) P  (4Gum  B) =

(n)  P (IALnsn  c )

P(20  < X  6  24 )

P(X  6 24) - P(X 6 19)

.99983  - .95063

.0492

P(15 d  x  6  1 9 )

P(X  < 19)  - P(X  < 14)

.95063  - .4277-l

.52286

= P(12 < x < 14)

=  P(X4 14)-P(X< 1 1 )

= .42777  - .10024

= .32753

(3)  P (mJmn) = P(X<ll)

= .I0024
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n) E(W) = p = 12/30  = .4

91)  tTm-iauwGimi~-z  = p = 12/30  = .4
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“u) P(2 < x < 4) = P(X 6 4)-P(X  < 1)

= .99836-.73610

= .26226

(n) P(x = 2) @(2,7)/(T)  = 631,800/1,947,792

(91)  P(X G 2) = f(0) + f(l) + f(2)

1,654,380=
1,947,792
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P (hJL~l~?) = P(x > 4//A  = 3)

= l-P(xG4)

= l-.8153

= .1847

?-I)  P(X =G  2/p = 4) = .2381

u) P(X a 2/r = 4) = 1 - P(x < I/p = 4)

= 1 - .0916

= .9084

174 ST 206 (H)


